Sclve the following problems and circle one of the answers. On the
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9 page, color the clown whichever color you have circled. For
you get red for the first answer, color all of the number ones red!
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dried apricots. List the ingredients from
least to greatest.

Date:
Problem Answer #1 Answer #2
Put the following in order from least to | 14y 5 1.3
greatest: 5'2° 10 5°10'2
=23 “ Orange Red
2°5"10 |
Put the following i B s
u e following in order from | 2 0.68,0.6,042 042, o.o.o.am.M
greatest to least: Blue Pink
0.42,2,068,06 %
Which is greater? m 3 0.801
0.801 or 2 2
: = Gray Green
Which is greater? 0.025 2
1 B
0.025 or - Yellow Black
Use <, >, or = to fill in the box. =] '
0.32[] 0320 Orange Peach
Use <, >, or = to fill in the box. ]
3 7
= E = Purple
Use ¢, >, or = to fill in the box. .
3
061 [] 2 Yellow Blue
Jimmy bought 1.35 pounds of candy. Was Less than More than
the weight of th T
e weight of - candy more or less than Peach Green
1= pounds?
| Charlie bought 1.4 pounds of beans for his Less than More than
chili. Was the weight of the beans more or Purpl Pi
less then Hm pounds? L e
| X0 | For a hiking trip, Molly makes trail mix with
| mno:_& or raisins, 1 pound of almonds, mm 3 0.875 1 Hm 3 uw 1 0875
| pounds of cashews, and 0.875 pounds of s e s
Gray Silver
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No Clownin’ Around
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